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Guess Paper – 2012
Class – XII
Subject – Economics

                                                            Section A : Micro Economics

Duration :   3 Hrs                                                                                                                     Time :3 Hrs

1. What do you mean by the opportunity cost?                                                                                1  

     Ans. It refers to the cost of using  a resource in its next best alternative use without loosing its Value .

2. Define budget constraints.                                                                                                              1

     Ans.

3. What will be the ED on the mid point of a straight line dd curve moving from left to right  1

     Ans. Unitary elastic
4. What is equilibrium market price?                                                                                               1

    Ans.    The price which are determined at the point of equality b/w demand and supply is called as  

                equilibrium price.

5. Define explicit cost.                                                                                                                        1

    Ans.    The expenditure made  on outsider factors in order to hire their services is called as explicit cost 

                .i.e. rent , wages, interest etc.

6. Give reason which one of the following is  true or false-                                                          3

A. An economy always produces on  but not inside PPC 
    Ans.     False, if resources are not fully utilized then economy cannot produce on PPC.

B. Massive unemployment shifts the ppc to the left.

   Ans.     False, because it is a situation of underutilization of resources.

C. An economy can not operate on any point outside the ppc.

   Ans.    True, because it ids unattainable combination due to limite resources.

7. What does a point on budget line indicate in terms of price ? State the relation between 
 slope of  line and price ratio.                                                                                                         3     
    Ans.     The slope of the budget line measures the  amount  of  change  in  good  2 required per unit 

                of change in good 1 along the budget line.

         Relationship

                 Please refer to NCERT 

                                                         Or

Define the followings-------

A. Substitution effect  , b. income effect,    c.  giffen  goods

Ans. A. Substitution effect

              It refers to substitution of one commodity with another when it becomes relatively cheaper

              B. Income effect

                   It refers to the real income or purchasing power of consumer which is inversely related with   

                   the change in price.

              C..Giffen goods

Those goods which  have positive price effect and negative income effect  and which is stronger than inferior goods

8.  Commodity x and y have equal  price elasticity of supply. The supply of X rises from 400 units  to 500 units due to a 20% rise in its price. Calculate the percentage fall in  supply of Y commodity if its price falls by 8% .   3

  Ans.       

	       X commodity

Q = 400 units    Q1 = 500 units

%∆P =20%

% ∆Q =[image: image2.png]


 x 100 = 25%

Es x=[image: image4.png]113
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 = 1.25


	  Y commodity

Esy = Esx =1.25

Esy = [image: image8.png]113



 
1.25 =[image: image10.png]%AQ



 
% ∆Q = 1.25 x 8%

     % ∆Q = 10%    


9. Explain the relationship between ATC and MC. Use diagram.                                                                           3

  Ans

	MC and AC                                                                                  
1. If  both falls MC  falls  rapidly then  AC                                                

(AC > MC )                                                               
2. If  both rises  MC rises  rapidly then   AC                                                             

( AC< MC)                                                                              

3 When AC is min. AC = MC .  or  

          MC cuts AC at its minimum.     

3. Both are calculated from TC                                         
	MC                                            MC 

                                                          AC

AC 

                            Qty


10. Define excess dd. How  is equilibrium  restored  in situation of  excess dd.                            3

   Ans.   Excess demand

	  

                       D                        S

Price

         p

         p0                                             Excess dd
                                   Qty


              It refer  to a situation in which dd is greater than supply at 

              prevailing price.

              Mechanism

              In excess dd due to more dd in the market (or due to less supply)  some  
              consumer    may  offer high price as a result market price start increase.  

              With increase in market price one side firms start  expand   

              their supply and on other hand consumer start contracting  

              their dd  .

              This process  will continues until the equilibrium is not restored between dd  

              and supply( At this   point there is no excess dd)

11. Draw a negative slopped dd  curve touching both axis mark any 5 points on it and comparer the Ed on these points.                                                                                                                                                                             4

	  

Price  a        b

                          c

                              d

                   Qty             e


                 Ed  = lower segment /  Upper segment

Ed at point a = lower segment / upper segment = ae/ 0 =∞

Ed at point b =  lower segment / upper segment = be / ab  >1 ( since be >ab)

Ed at point c  = lower segment / upper segment = ce / ac  =1 (since ce = ac)

Ed at point  d = lower segment / upper segment = de/ ad <  1 ( since de< ad)

Ed at point e = lower segment / upper segment = 0 / ae   = 0

12. When a producer changes only one input keeping other as fixed in order to bring the change in output., why does MP of an input increase?                                                                                                                                    4

               Causes  behind  increasing return

a. indivisibility of factors of production

b. Division of labour

                                                                             Or

Can MC rise when AC is falling? Explain( alternative--- can AC be above to the MC when MC is rising?   

	 
                                                                  MC               AC          

     MC

     AC                                        a

                           b

                                          0                   q                  q1             Qty


                                        Can  AC fall when MC is rising?

            Yes MC can rise when AC is falling,   
     because AC is the cost  calculated at a  

     particular level of of o/p,

             Whereas MC is calculated  for the                                                                                        

              production of one  extra unit of the    

             commodity. 

                                        Thus when AC is falling at a 

                                         particular level of o/p at that  time cost 

                                         of producing a  particular  unit may rise.

             Or  You can say that  when rate of increase 

             in  MC is less than rate of fall in AC

             therefore AC can fall when MC is rising

13. How will the change in price of substitute goods   
affect the supply curve of a commodity?             4

        Ans.   Substitute goods
	  

Price                   s0 s  s1

  Qty


                                                                                                                                                                                                                

          In case of  substitute goods there is inverse relationship b/w  

 price  and supply of substitute goods.

     For exp. Let X and Y are two substitute goods then with 

  increase in price of Xcom. the supply of  Ycom  decrease and   

  with decrease in price of Xcom. the supply  of Ycom. increase 

14. A. Why do people purchase more at same price?      

Ans. People purchase more at the same price in the following situations

i. If income of buyer increase

ii. If price of  substitute goods    increase

iii. If price of complementary goods   decrease

iv. If future price seems to increase.                        

 B. What would be the shape of price line so that TR curve is--------------

         i. positively slopped  straight line passing through origin.

Ans. AR curve is straight line parallel to x axis.

            ii. horizontal line  

Ans. Rectangular hyperbola                                                                                                                          3+3=6

15. A. What is meant by price rigidity ? Why prices are rigid under  oligopoly? 

	
                   




                                           Price                              P                                     A                    

 

                                                                                                                    Q    Qty


B.Explain the nature of AR curve under different market situations?
	Market
	Nature
	Reason
	                Curve

	Perfect
	Perfectly elastic
	Because product is perfect substitute
	
AR                                                      AR

             

                                      Qty

	Monopoly
	Less elastic
	Due to lack of close substitute


	          

AR

                             AR

                            Qty

	Monopolistic
	More elastic
	Due to availability  of more close substitute


	           

   AR             

                                           AR

                             Qty


    Ans. Nature of AR curve

                                                                      Or

                        At what level of price do the firm in a perfectly competitive mkt. supply when free entry and              

                        exit is allowed in the market? How is  equilibrium qty is determined in such a market?                                 6
               Ans.  The firm under perfect competition will  produce and supply that level of output at which firm determines       

                         its equilibrium. It may be explained with the help of TR-TC and MR- MC approach
                         1.  TR-TC approach

                        Acc. to this approach  eq’m is strike at that level where the difference b/w TR and TC is maximum.

                                                                Л = TR -T

                      This approach may be explained with the help of following diagrams in different market situations

                       In Perfect market                                                                  
                                                                       [image: image11.png]Costs and Price-taking firm
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           Acc. to the diag. The producer attain eq’m at oq level of o/p because at this point the difference         

               b/w TR and TC is max.

        2.  MR –M C approach

             Acc. to this situation producer’s eq’m will be attained at that level when  the following situations  

             are to be satisfied

a. MR = MC

b. MC should be rising  ( MC should cut MR from below)

             In perfect  Market : In perfect market MR curve is a straight lin

	
                                                     MC

 MR       A                             e   M R=AR   

 MC                                       
                          t

     O    Qty(       q1              q




                                                  Acc to diag.

MR = MC at point e  

At e point where MR = MC  we consider the rising part of MC after point  t on MC curve.

before eqm point  e  P > MC so producer will not stay here because he can produce more  until oq level of output

after eqm point  e  P < MC

therefore producer will not produce after oq level of output

16. Define producer equilibrium. Calculate  (a) Break even point ; (b) Maximum profit of a firm assuming   that the firm  sells  all the units at Rs 5 per unit                                                              6

          Qty                  0       10         20        30         40        50        60

          TC (Rs)         50      100       130       150    160       170     200

Ans. Producer equilibrium 

         It refers to a situation in which a firm tries to maximize its profit in given cost and output                                                                 

	Q
	P=AR
	TR
	TC
	  ᴫ
	  Description

	0
	5
	0
	50
	-50
	

	10
	5
	50
	100
	-50
	

	20
	5
	100
	130
	-20
	

	30
	5
	150
	150
	  0
	Break even output point

	40
	5
	200
	160
	40
	

	50
	5
	250
	170
	80
	

	60
	5
	300
	200
	100
	 Max. profit

	


                                                 Section B: Macro Economics  

17. Define involuntary unemployment.                                                                                                                                1

   Ans.  A situation in which the able bodies are willing to work at given wage rates but  do not get the 

             work (or  forced to      leave the job).

18. The  price of 1 dinar has fallen  from Rs.40 to Rs 30. Has the Indian currency 
appreciated or depreciated?                                                                                                                                             1

   Ans.   The Indian currency has been appriciated

19. Define SLR.                                                                                                                                                                         1

  Ans     It refers to the reserve ratio which a commercial  bank have to keep in the form of some liquid 

              asset  with itself.

20. Define autonomous consumption.                                                                                                                                    1

  Ans     The  level of consumption at zero level of income

21.  If the disposable income is Rs 2000 and consumption  expenditure is Rs300.Caiculate APS.

  Ans     APS is = 300/2000 =15

22. From the following data relating to a firm calculate its  NVA fc                                                                                 3
Item                                                                     Rs

 Subsidies                                                           40

Sales                                                                    500

Consumption of fixed Capital                          20

Exports                                                               130

 C S                                                                      20

OS                                                                        30

Intermediate purchase                                      200

Purchase of machinary for own use                100

Imports of raw material                                   40

Ans.

	sales
	purchase
	Change    

   in stock
	Value of

output
	Value added
	NVAfc=GVAmp- cfc - (IT-subsidies)

	500
	200


	 CS=  20

-OS= -30


	Sales=500

+∆S= -10


	Vo/p       =490

purchase=200

  
	  GVA mp                       

- Consumption 

   of fixed   

   Capital            

+ Subsidies      
	    290

      20

       40

	500
	200
	∆S= -10


	  =490


	                  =290

=GVAmp
	                
	=310


23. Define transfer payments. Why these payments are not included in national income. Give two examples of transfer payments.                                                                                              3

     Ans The payments which are made without any kind of productive or economic activities. For 

             example unemployment allowances , Scholarship etc

Such payments are not included in national income because  these are not result of any kind of productive activities or they does don’t arise due to any contribution in the flow of goods and services

                                                                          Or

Give the reason not to be included in NY

A. Employees  contribution

Because it is the part of wages and salaries of employee. So if we include it there will be double counting

B. Income received from the sale of share

Because it is just transfer of value , there is no generation of new income.

C. Windfall  gain

Because such gains are not   result of increase in   flow of gods and services in an economy

24. Explain the effect of depreciation of domestic currency  on exports and imports of domestic economy.                3

     Ans     Depreciation

                 the  domestic currency (rupee) is depreciated since it has become less expensive in terms of 

                 foreign currency. For exp, if the equilibrium rupee- dollar  exchange  rate  was  Rs  45 =$1and           

                  now it has become Rs 50 per dollar,

                  the rupee has depreciated against  the  dollar

 Thus Imports of domestic economy will fall down and Exports will increase

                                                                       Or

Explain the affect of appreciation of domestic currency on exports and imports of domestic economy.

    Ans      Appreciation

                 the  domestic currency (rupee) is appreciated since it has become more expensive in terms of   

                 foreign currency. For exp, if the equilibrium rupee- dollar  exchange  rate  was  Rs  45=$1  and 

                 now it has become Rs 40 per dollar,

                 the rupee has appreciated against  the  dollar

Thus Imports of domestic economy will increase and Exports will shrink

25.  Define current account of BOP. How  is it  different from capital A/C of BOP. IS exports of machinery    recorded in current account or capital A/C ? give reason.                                                                                            3

      Ans.   Current account of BOP

                 It  is that part of BOP a/c which records all kinds of regular  and short term transactions in  

                 terms of goods and services
	Current account
	 Capital account

	1. It records  

transactions related to goods, services and unilateral transfers.

2. It is a flow concept

3. Exp. X-M of machines,banking , and gifts etc


	1. It records all

kinds of short run and long run transactions which affect the assets and liabilities of an individual as well as govt.

2. It is a stock Concept

3. Exp. Borrowings, Deposits by NRI, sale of gold, FDI etc


               Export of machinery is recorded in current account because it is a physical good.

26. How can budgetary policy be used for reducing inequalities in  income and wealth.                 

     Ans   Distribution function 

1. Through  its  tax  and  expenditure  policy,  the government try to  make the distribution of income more equal and  'fair' in society.

2. The government affects the personal 

                disposable income of households by making transfer payments and  collecting  taxes  and,  therefore,  can  alter  the    

                 income distribution.

3. For example impose higher taxes on rich section and by spending that on the welfare of weaker section.

27. Explain the clearance house function of central bank.                                                            4

    Ans Clearance house functions

a. All comm.. banks have their account and reserve with central bank. thus their accounts are to be    settled by the central bank itself. This  function of central bank is called as clearance house    function.

b. Basic objective is to reduce cash transactions in the economy.

c. For example if a cheque of Rs 3000 isuued by bank A in bank B , then no cash is to be transferred between these two banks

d. As these banks have their account  and reserves with central bank then their account will be settled there means 

Rs 3000 will dedit from account of bank A and  credited in the  account of bank B.
                                                                           Or

Explain the reserve ratio method of credit control used by the central bank.

a. Cash Reserve Ratio 

   which specifies the fraction of their deposits that banks must keep with RBI. 

b.  Statutory Liquidity Ratio 

              which requires the banks to maintain a given fraction of their total demand and time deposits  in  

              the   form of specified  liquid assets

              Cash  Reserve  Ratio  (CRR)  and  Statutory Liquidity Ratio (SLR) also   work through the rdr-            

              route. 

             High reserve ratio

1. A high   value of CRR or SLR helps increase   the value of reserve   deposit ratio,

2. It  diminishing   the value of the money multiplier 

3. Thus  money supply in the  economy  will also reduces
and vice versa
28. Is public debt    always burdensome for an economy?                                                             4

     Ans. Not always

a. If it is used for consumption purpose then it will be repaid to future generation by imposing higher taxes on them, in such case it will be burdensome for the future generation.

b. If it is used for productive purpose or in development of infrastructure  then it will not be burdensome.

29. State the implications of  Revenue Deficit? Give two measures to reduce the revenue deficit. 

    Ans.  Revenue deficit(R,D.)

             It refers  to the excess of revenue expenditure over revenue receipts.

             RD = RE>RR

             RD= Revenue exp. - Revenue receipts 

             The revenue deficit includes only such transactions that affect the current income  and          

             expenditure  of  the  government.  

             Implications of R D 

· government is dissaving and is using up the savings of the other sectors of the economy to finance a part of its consumption  expenditure. 

· the government will have to    borrow not only to finance its investment but also its consumption requirements. 

· The stock of debt and interest  liabilities and force the government to cut its expenditure. 

· Since a major part of revenue expenditure is committed expenditure, it cannot be reduced. 

·  If  government reduces productive capital expenditure or welfare expenditure. This would mean lower growth and adverse welfare implications. 

30. State whether the following statement are true or false. Give reason for  your answer.-----

A. Capital formation is a flow

         Ans.True, because it is a process which is measured at a period of time

B. A machine is always a capital good

          Ans.  False, whether it is a capital good or not it depend on the end use of machine. For example if   

                 a washing machine used by house hold then it is consumer good and if that machine is used by   

                 a  laundry then it is capital good

C.Nominal GDP can never be less than Real GDP

       Ans.  False, if current price are less than base year price then current GDP may be less than Real  

    GDP

D .Gross domestic capital is always greater than gross fixed capital formation.                     6

        Ans.  False, if change in stock is negative then Gross domestic capital will be less  than gross fixed 

                 capital formation.

31. The savings function of an economy is S=-200 +.25Y .The economy is in equilibrium when income is equal to 2000. Calculate--------

A. Investment expenditure at equilibrium level of economy

B. Autonomous consumption

C. Investment multiplier
     Ans.    Given    S=-200 +.25Y  and Y at eqm level  =Rs. 2000

A. Investment expenditure at equilibrium level of economy
S=-200 +.25Y  

S=-200 +.25 x 2000  ( since Y = Rs. 2000)

 S= -200 + 500

 S = Rs 300 

Since at equilibrium level of Income S = I

 I = Rs 300 ( S=Rs 300)

       Thus  Investment expenditure at equilibrium level of economy

B. Autonomous consumption

 [image: image13.png]


 = Rs 200 

(because saving at zero level of income are negative which are equal to autonomous consumption).
C. Investment multiplier
S=-200 +.25Y   here mps =.25

K=[image: image15.png]



D. Thus Investment multiplier =4

                                                                                 Or

How does  a. Margin requirement of loan and , b. Tax  is helpful to combat the problem of excess and deficient AD.                                                                                                                6

                Margin requirement of loan

                It is the difference between the value of security to be mortgage and value of loans sanctioned.

                MRL  =  Value of security to be mortgage – Value of loans  sanctioned

a. In order to    combat the situation of excess AD  MRL is increased for some specific activity

b. In order to combat the problem of deficient AD t  MRL is decreased for some specific activity

Tax : 

Tax are those compulsory payments which a firm , households and organizations have to pay to the government.

 Change in tax have direct impact on disposable income of people .Therfore it is used to combat the problems of excess   and deficient AD in the following manner-     

                a.  In order to    combat the situation of excess AD   Tax rate  is increased  so that  

                     economy/people left with less disposable income , which further decreased the AD

                b.. In order to combat the problem of deficient AD  Tax rate is decreased  so that economy /people left with more 
                     disposable income, which further increase the level of AD in the economy.

32.  Calculate  GNPmp and NET national Disposable income                                                     6

Item                                                                                                Rs
1.Current transfer from government                                               35

2.Compensation of employees                                                        400

3.Net current transfer from rest of the world                                  45

4.Rent                                                                                              800                                   

5.Consumption of fixed capital                                                       50

6.Interest                                                                                          150

7.Net indirect tax                                                                             60

8.Profit                                                                                            200

9.Mixed income of self employed                                                  100

 10.Net factor income from abroad                                                 35

	               Item                                     
	Rs
	Item
	Rs

	Compensation of employees

 +Rent

+ Interest

 +Profit

 +Mixed income of self employed

+ Net factor income from abroad

 +Net indirect tax

 +Consumption of fixed capital
	400

800  

60 

150

20

100

35

50


	GNPmp

+Net current transfer  

  from rest of the world

- Consumption of   

   fixed capital
	1615

45

50



	        GNPmp
	1615
	Net national disposable income
	1610


                                                                  Sample paper 4

                                                          Section A:  Micro Economics

Duration :   3 Hrs                                                                                                                    Time :3 Hrs

1. Which economic system  is based on market mechanism?                                                   1

     Ans. Capitalistic economy

2. Define monotonic preference.                                                                                                  1

    Ans. When a consumer tries to get more of one commodity without less of other ,such preference is  

            called as monotonic preference.

3. What would be the elasticity of dd if with increase in price total outlay decrease?           1

    Ans.  More elastic demand

4. Define production function.                                                                                                     1

   Ans.   The functional relationship between physical input and physical output it is called as production   

             function.

5. In which market situation a firm have partial control over price?                                      1

   Ans.    Under monopolistic competition

6. How does central problem “ what to produce” solved under different economic system? 3

  Ans.    Under market economy
       What to be produced is decided according to the demand of consumers

       Under centrally planned economy 

       What to be produced is decided according to the need of the economy

       Under Mixed  economy 

       What to be produced is decided according to the need  as well as the demand of the economy. For  

       example goods which are related to basic needs or which promote the welfare of society is 

       produced and provided by the government and luxuries are produced by the private sector

7. If a consumer is indifferent b/w combinations A and B , what does it imply?                     3

                                                              Or

How does Law of dd take determinants of dd into account?       

       Ans. Acc. To law of demand keeping other things constant there is inverse relationship between price of a commodity 

                and its demand.Thus law of demand considers only own price of the commodity and its demand.

And considers other factors as constant i.e.

a. Price of other related goods remain constant

b. Income of buyer  should remain constant

c. Taste of buyer should remain constant.

8.  Ed of a commodity is  -1. The consumer buys 50 units of  that good when price is Rs 2 / unit. How many units  will the consumer buy if  the price rise by 25%.                                                                                                        3

Ans.  Given  Ed=-1

                P  = Rs 2/Unit                               Q = 50 units

          %∆P  =  25%                                      Q1 =?

                    P1=  p + 25% of p

                        =2 + 25% of 2

                        =   2+.5 = 2.5

                   Ed =  [image: image17.png]


   

                   -1  =  [image: image19.png]


  

           -1 x 6.25 = Q1- 50

            -6.25      =  Q1- 50

              Q1       = - 6.25 +50 =   43.75

 Thu new quantity demanded  = 43.75 units

9. i. What will be the rate of TPP if MPP falls but positive?   

    Ans.    TPP will increase at diminishing rate 

ii. If APP is greater than MPP what will happen  with MPP?                                                                                  3

    Ans.    MPP will decrease                                                     
10. Can MPP falls when APP is rising  .Give reason.                                                                                                      3

	 

AP

MP                                           

                                                                

                                             AP

                  Qty                                            

                                           MP


   Ans.     MPP can fall when APP is rising. It happens 

               when rate of fall in MPP is less than rate of 

                increase   in APP. See  shaded part of the diagram.  
11. If there is a situation of excess dd ,Is it a 

situation of equilibrium price. How can   
equilibrium price  be restored?                                                                                                                       
     Ans.   Excess dd refers to a situation in which demand for a commodity is greater then the supply of                                     4
	  

            D                S                  

Price  

      P                     E

      P1                                            

                           Excess dd

                      Q1         Q       Q1  Qty




                 that  commodity at existing price.

In case  of excess demand there will be shortage

 of product as  a result some consumers will be 

ready  to pay the  higher price  for the product,

As a result market price will start increasing  due

to increase in price the demand start shrinking 

whereas market supply start expanding and this

 process will continue until the equilibrium level 

between market demand and supply is not 

restored
12. How does the following determinants  affect the Ed of a commodity----------   

A. Price level b. Income level                                                                                                                                         4

      Ans. A.Price level

  If price level is high then elasticity of demand will be high

  If price level is low then elasticity of demand will be low

  B..Income level

  In case of high and low level of income the elasticity of demand will be low

  In case of middle  income  level the elasticity of demand will be high

13. Why the difference between AC and AVC goes on diminishing ? can they join with each other?                            4

      Ans. Relation 
	  

AC                                                              AC

AVC

                                                      

                                                       AVC

                                       Q    qty



· The difference  between AC and AVC  is 

AFC.                                                                                                     

· AFC goes on diminishing with increase  in 

o/p  therefore the difference b/w AVC and  

 AC goes on decreasing.                             

· AFC ≠ zero,

                 therefore AC and AVC cannot join or 

                 intersects each other.AC                                                  
                                                           Or      
Explain the behavior of TR-MR When  firm is a price taker.

In case of perfect market firm is the price taker  therefore MR is constant

Due to constant MR -TR will be a straight line passing through the origin( TR will increase at constant rate. See the diagram and schedule

	Q
	P
	TR
	MR
	
 TR/MR                           TR

        P                            AR=MR

                        Qty

	1

2

3

4

5


	5

5

5

5

5


	5

10

15

20

 
	5

5

5

5


	


Distinguished between  decrease in quantity supplied and decrease in supply. use diagram

	      decrease in quantity supplied
	              decrease in supply



	1. It refers to the fall in supply     due to fall in price of the good.

2.Other factors will remain same.

3.Reason—Fall in its own price.

4. In it we move downward on the same curve

         Contraction

 

Price                       s                    


                       Qty
	1. It refers to   less supply at same price.

2.Own price will remain same.

3.reason

i. Price of substitute  increase

 ii Tech.  obsolete..

iii. Input price rise. etc

4.Curve shifts leftward.
                    Decrease

                      S0    S 


Price

                Qty


14. A. Define opportunity cost with the help of suitable example and  PPC.

Ans. Opportunity cost

	 

   Rs 2500 A
  Rice

0     Wheat        B  Rs4000    




The cost of using a resources in its next best alternative use without loosing its value. Or the   value of next best alternative forgone.

For example 

Suppose a given piece of land may be used

for the production of rice (= Rs2500) and  

for the production of wheat(= Rs 4000) 

Thus opportunity cost of using the land

 In production of wheat = money value 

  of the amount of rice  sacrificed .

O.C. of wheat = money value of Rice= Rs. 2500

B..Define market demand curve. How it is  derived from Individual dd curve.   

      Ans. Market dd curve: 
                Market demand curve shows different quantity demanded at different price  made by all consumers for a  

                Commodity.

                Market demand curve is   derived by horizontal summation    of individual dd curve.

	
             

Price                                                               Price


d1                                                   

                                                                                                                            d2

         

                  Qty                                                    Qty

                            Price 

                                                        d3

                                                Qty


	                             dm=d1 + d2 + d3

Price

                          d1    d2    d3              dm

                                              Qty


             Individual demand curve                               Market demand curve                                  3+3= 6

15. Define producer equilibrium. How does a  firm decide its output and price under imperfect 

 market use TR-TC approach.

    Ans.  Producer equilibrium

              It refers to a situations in which a  producer tries to maximize its profit in  such a way so that he  

              can maximize his  o/p and minimize its costs.
             Approaches 

             There are two approaches used to measure the producer’s eqm (
             Acc. to TR-TC approach the firm will be in equilibrium when the difference between TR and TC  

             is maximum. Thus at this level firm decide to produce at this particular level whatever will be the  

             level of price the product will be sold at that price. 

             TR-TC approach

             Acc. to this approach  eq’m is strike at that level where the difference b/w TR and TC is  

             maximum.

                                                  Л = TR -TC

                                               Profit

             This approach may be explained with the help of following diagrams  
             Acc. to the diag. The producer attain eq’m at oq level of o/p because at this point the difference  

             b/w TR and TC is max. means producer will decide to produce oq level of output.
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                                                                   Or

Explain the followings-----------

A. free entry and exit of a firm under perfect market                                                         6

  Ans.    Free entry--In long run

              Due to abnormal profit of the industry the   new firm start entering in the industry as a result  

               profit of the industry start diminishing and this process will be continue until the 

               total profit of the industry is wiped  out. 

     Free exit-- Due to

               abnormal loss of the industry the   new firm start leaving in the industry as a result loss of the industry start diminishing  

                and this process will be continue until the total loss  of the industry is wiped  out. 

B. Implications of a product differentiation under monopoly                                                  

   Ans.     Product differentiation

               Product differentiation means that product of different firms will be different in form of colour, 

               size, shape size and design etc.

               Implications

               It implies that  affirm can charge different price for its product on the basis of different features.  

This product differentiation  gives partial control to the firm over price for its product 

16. Market for  good is in equilibrium. Explain that equilibrium price  may or may not change due to simultaneous change in both dd and supply.                                                                  6

     Ans.   Due to  simultaneous change in demand and supply the  the equilibrium price may or may not  

                change. Its depend on the amount of change in demand and supply. Accordingly the two 

                 situations of change  or not change in equilibrium price  may be shown with the help of  

                 following diagrams---

	a. Equilibrium price not changed:It happens when change in demand is equal to change in supply.

	If increase in demand is equal to increaser in supply
	If decrease in demand is equal to decrease in supply

	        d        d1              s       s1
price

Pe                 e         e1
                      Qe       Q  
                        qty  

When both demand and supply increase  equally , the equilibrium point will shift from point e to e1 as a result 

    There is no change in equilibrium price ( they will remain same at OPe level, but

    Equilibrium quantity will  increase from OQe to OQ1..
	        d        d1              s       s1
price

Pe               eo           e

                      Q         Q e 
                        qty  

When both demand and supply decrease  equally , the equilibrium point will shift from point e to e0 as a result 

      There is no change in equilibrium price ( they will remain same at OPe level, but

      Equilibrium quantity will  decrease from OQe to OQ0

	b. Equilibrium price may changes:It happens when change in demand is not equal to change in supply

	If increase in demand is more than increaser in supply
	If decrease in demand is less than decrease in supply

	                            d1                                                              

        d                        s       s1
price

P1                                     e1
Pe                 e          

                      Qe          Q1
                        qty   

When both demand and supply increase  equally , the equilibrium point will shift from point e to e1 as a result 

 Equilibrium price  will increase from OPe to OP1

Equilibrium quantity will  increase from OQe to OQ1..
	        d        d1              s       s1
price

P1                  eo
Pe                                e

                  Q0           Q e 
                        qty  

When both demand and supply decrease  equally , the equilibrium point will shift from point e to e0 as a result 

 The equilibrium price will increase from OPe  to OP1level, but

Equilibrium quantity will  decrease from OQe to OQ0..


                                                   Section B: Macro Economics

17. Define investment multiplier.                                                                                                                      1

      Ans.  The ratio between change in income  to the change in investment is called as investment 

                multiplier.

18. Can value of mpc be greater than 1?                                                                                                           1

     Ans.    No.
19. Define demand deposits .                                                                                                                               1

    Ans.    The cash deposited by public in banks which is chequable and payable on demand iis called as 

                primary deposits.

20. What  do you mean by deficit financing?                                                                                                      1

     Ans.    Deficit financing is related with printing of new currency.

21. Give two examples of above line items of BOP.                                                                                             1

    Ans.    Current account transactions and capital account transactions 
22.   calculate personal income                                                                                                                               3

Item                                                                                             Rs in laks

1. Retained earnings of pvt. Corporate                                     20

2. Miscellaneous receipts of govt.  admin department s          50

3. Personal disposable income                                                    200

4. Personal tax                                                                              30

5. Corporate profit tax                                                                10

	Item
	Rs in lakh

	Personal disposable income  

+   Personal tax     

+    Miscellaneous receipts of govt.  admin departments                                                                                                                               
	200

30

50



	Personal Income
	280


                                                                  Or

Explain the components of  net domestic  fixed capital formation.

    Ans. There are three basic components of net domestic fixed capital formation

a. Net business fixed capital – which includes machine , tools, commercial buildings etc

b. Net residential fixed investment which includes all residential construction

c. Net public fixed investment which includes construction of roads, bridge etc.

23. Distinguish b/w fixed  exchange rate and flexible  exchange rate.                                                              3

    Ans.

	      Fixed Exchange rate
	         Flexible exchange rate

	1. Rate which are determined by 
the authority is called as fixed exchange rate.
2. These rate cannot be changed 
without permission of authority.
3. In fixed exchange rate system 
authority need to maintain large reserves of gold.
4. There is no trade risks 
because rate is fixed

	1. Rate which are determined 
by the market forces i.e. demand and supply of forex is called as flexible exchange rate.
2. These exchange rates varies 
with change in demand or supply of  forex.
3. There is no need large gold 
reserves.
4. There is heavy trade risks 

due to fluctuation in exchange rates



24.    Explain the “Unit of value “ function of money.                                                                                           3

     Ans.   

1.   Money is a single unit of account

2. Since all values are expressed  in terms money , So it is not difficult  to determine the rate of exchange between different goods and services as well between currencies.

3. The value (price ) of goods and services expressed in terms of money.

4.   It is  a measure of value because the value of  various good and services  are physically measured in different  units cannot be added up.

5. Thus money make it possible to compare various quantities of good.

25. “People demand more of foreign currency when exchange rate decrease “why. Use example

  Ans.    DD for forex and exchange rate

           The demand curve (DD) is downward sloping because

· a rise in the price of foreign exchange will increase the cost in terms of rupees of purchasing foreign goods.  Imports  will  therefore  decline  and  less  foreign  exchange  will  be dd
              there is inverse relationship

              between dd for forex and                                        Erate

              exchange rate.  

               Exp
dd

                let India and USA are two   trade partners , and exchange rate between these two countries is 

                Rs 40 =$1

                If it rise to Rs 45 =$1
                then  Indians have to pay more for the same dollars due to which  Us goods becomes expensive 

                —  imports will falls—dd for dollars will falls and vice versa 

                In this way with increase in exchange rate the dd for forex falls and with falls in exchange  rate 

                the  dd for forex will rise.

26.                                                                                                                                                          3

27.  Giving  reason categorized into direct tax  and indirect tax                                                    4

A. Entertainment  tax 

    Ans.     Indirect tax, Because its burden can be shifted on other person.

                B. Wealth tax 

    Ans.     Direct tax , because its burden cannot be shifted on others.

C. Corporation tax 

    Ans.     Direct tax, because it is imposed on the profit earned by a corporate and its burden cannot be           

                 shifted 
D. Excise duty

    Ans.    Indirect tax, Because its burden can be shifted on other person.
28. Is  fiscal deficit necessarily inflationary. Justify .                                                                            4

    Ans.    No, Not always 

               However, if there are unutilized resources,

               A high fiscal deficit is accompanied by higher demand and greater output and, 

               therefore, need not be inflationary. 

               But in the situation of  fuller utilization  in or low production level it would lead to inflation in the        

               economy

                                                                  Or

Why public goods are to be provided by government?

      Ans.  Public  goods,  as  distinct  from  private  goods,  are  collectively  consumed.  Two important       

               features of public goods are - they are non-rivalrous in that one person can  increase  her   

               satisfaction  from  the  good  without  reducing  that  obtained  by others  and  they  are  non-

               excludable,  and  there  is  no  feasible  way  of  excluding anyone  from  enjoying  the  benefits  

               of  the  good.  These  make  it  difficult  to  collect fees  for  their  use  and  private  enterprise  

               will  in  general  not  provide  these  goods. 
29. Following is the  budget of central government of India for a particular year. Find out      4

(i) Total govt. revenue, (ii) Total govt. expenditure  ,(iii) Fiscal deficit, (iv) Primary deficit

	  Revenue
	   Amount (Rs)
	    Expenditure
	Amount(Rs)

	1. Tax revenue

2. No tax revenue

3. Capital receipts

a. Recovery of loans

b. PSU disinvestment

c. Borrowings  & other liabilities
	42,978

11978

31971

5712

Nil

26259
	1.Current expenditure

  a. Interest payments

  b. Subsidies

  c. Defence exp.

2. construction of power projects and bridge
	73516

21498

9581

10874

24756


i. Total revenue of govt. = Tax receipts + Non tax receipts

                                                   = 42978 + 11978

                                                   = Rs 54956

ii. Total govt expenditure  = Current exp. + construction of power projects and bridge

                                                    = 73516   + 24756

                                                           =  Rs. 98272

iii. Fiscal deficit                      =  Borrowings  & other liabilities

                                           = Rs 26259

iv. Primary deficit                   = Fiscal deficit – Interst payment

                                           = 26259 – 21498

                                           = Rs4761

30.  From the following data calculate (a) GDP fc , (b) Factor income to abroad                                                   6

Item                                                                Rs in cr.

1. Compensation of employee                      400

2. Dividend                                                   300

3. GNPmp                                                     1500

4. Profit                                                         200

5. Interest                                                      100

6. Rent                                                           150

7. Net fixed capital formation                       300

8. Change in stock                                         50

9. Gross domestic capital formation             400

10. Factor income from abroad                       60

11. Net indirect tax                                          120

	Item
	Rs
	Item
	Rs
	Item
	Rs

	Compensation of employee

+  Profit

+Interest

+Rent

+ consumption of fixed capital


	400

200

100

150

50


	GNPmp

- Net indirect tax
	1500

120
	Gross domestic capital formation

-(Net fixed capital formation+ change in stock)
	400

350

	
	
	GNP fc
	1380
	
	

	
	
	GNPfc

-GDPfc
	1380

900
	
	

	
	
	
	
	 Consumption of fixed capital)
	 50

	GDPfc


	900
	
	
	
	

	
	
	
	
	
	

	NFY from abroad

- factor income from abroad


	380

60


	 NFY ab
	380
	
	

	
	
	
	
	
	

	Factor income to abroad
	-320


	
	
	
	

	
	
	
	
	
	


31. How will you treat the following while estimating domestic factor income of India? Give reason For your answer                                                                                                              6

a. Remittance by  a NRI to their families in India. 

    Ans.         Not included, because these are current transfers from abroad

b. Rent received by  resident of India from Russian embassy in India.

    Ans.         Not included, because it is factor income from abroad

c. Non marketable goods.

    Ans.        Not included, because such goods does not have price tags and there value cannot be 

                    assessed.

                                                                              Or

a. What is meant by consumption of fixed capital? Why it is  deducted from gross capital to get net capital  ?

     Ans.       It refers to the wear and tear  consumption of fixed asset due to its regular use in the process  

                    of  production.
                        To estimate net  capital formation we deduct depreciation from gross capital.

                                      Gross capital  - depreciation = net capital formation ( for detail please refer to NCERT)
b. Explain how externalities are a limitation of in taking GDP as an index of welfare.
        Ans.   Externalities: Externalities refer to the benefits (or harms) a firm or an  individual causes 
                        to another for which they are not paid (or penalised).  Externalities do not have any market 
                        in which they can be bought and sold. 
32.       A. Distinguish between    APC and MPC . The value of which can be greater than and     

       when?                                                                                                                                                        3+3 =6

     Ans.     APC   It refers to the ratio of consumption to the income.
· which show that how much is consumed at a particular level of income.

· Value of APC decrease with increase in level of income

· APC is never equal to 0

                     MPC  It is the ratio between the change in consumption due to change in income

· MPC indicates the the change in consumption due to change in income

· MPC is higher in case of poor and low in case of rich

· Its value aries b/w 0 (( MPC ( 1

                Here ΔC =C1 –C and  ΔY= Y1-Y

       The value of APC can be greater than one.

       In specific circumstances , when C > Y
   B. How does   Reserve ratio are used to  combat the problem of deficient AD?     3+3=6   
        Ans.   Cash Reserve Ratio 

      which specifies the fraction of their deposits that banks must keep with RBI. 

   Statutory Liquidity Ratio 

                   which requires the banks to maintain a given fraction of their total demand and time deposits  in  

                   the   form of specified  liquid assets

                  Cash  Reserve  Ratio  (CRR)  and  Statutory Liquidity Ratio (SLR) also   work through the rdr- route. 

                 High reserve ratio

1. A high   value of CRR or SLR helps increase   the value of reserve   deposit ratio,

2. It  diminishing   the value of the money multiplier 

3. Thus  money supply in the  economy  will also reduces
Which reduce the level of AD . In ths way it is used to combat the problem of excess AD.
                                                                             Sample paper 5

                                                                  Section A : Micro Economics

Duration :   3 Hrs                                                                                                                Time :3 Hrs

1. What do you mean by    production possibilities of an economy?                                                                 1

Ans.     It refers to the  various possibilities of production of a set of two goods in given resources acc. to 

             the need of the economy   .

2. Define budget set.                                                                                                                                               1

  Ans.    It refers to the  various sets of combination of two goods which can be purchased in given 

              income and  at given price of the commodities.
3. If Ed is more  than unitary. What would happen  with price if TE is decreasing.                                        1

  Ans.    Price are increasing.

4. Define normal profit.                                                                                                                                           1

Ans       Normal profit is a situation of no profit and  no loss which means cost is equal revenue.

5. What do you mean by price discrimination?                                                                                                     1

Ans.     It is a situation in which  a firm charges different price from its different buyers from different 

             areas for the same product

6. How does the “ massive unemployment”   affect the PPC? Explain                                                                 3

 Ans.    Massive Unemployment does not affect the availability of resources. It is a situation of 

             underutilization of resources. Thus it does not affect the ppc but it will be indicated by a point 

              inside ppc
7. IC curve is always convex to the origin, Why?                                                               3 

  Ans.    IC curve is always convex to the origin due to decrease in MRSXY  

	 
	
       Y comm..

                           

                                    ∆Y  ∆X               IC

X comm.

	Comb.
	 X
	 Y
	∆X
	∆Y
	MRSxy
	

	A

  B

  C

  D
	1

2

3

4
	40

20

10

5
	1

1

1

1
	40

20

10

5
	40

20

10

5
	

	Acc to diag and schedule MRSXY falls because both goods are normal goods. So in order to get one more unit consumer have to sacrifice some units of another commodity. But for each extra unit of one commodity the willingness of consumer to sacrifice another commodity goes on decreasing therefore  MRSxy diminishes hence IC is convex to the origin


                                                                    Or

 Starting from the point of consumer equilibrium, suppose MU of rupees increase .How  

it will affect the quantity demanded?  

Ans.        

                                             MUx

                                CE => ------  = MURs

                                             Px                    

                Let Px = Rs 1 /unit 

                and MURs   = 30  utils

               Then consumer eq’m may be explained with the help of following schedule and diag

	Q

	TE

	MUx

	MURs

	MUrs1


	1

2

3

4

5

6

-

	1 2

3

4

5

6

-

	60

50

40

30

20

10

-

	30

30

30

30

30

30

  -

	40

40

40

40

40

40

--


	
	          

P/

 MU

40                                      Mum 1

30                                       MUm

                                          \

                                                                                                       MUx

                                       Qty          3          4

	Let MUm increase from 30 utils

Then equilibrium point will shift from point e to e1  thus in order to maintain equilibrium consumer decrese the consumption from 4 units to 3 units.

Thus with increase in Mum the consumption will decrease


8.  A  5% fall in price of a commodity leads to 10% rise in its demand. A consumer buys 40 units of the good at a price of Rs 10 per unit. How many units will the consumer buy at a price of Rs12 units?                                                                                                                      3

  Ans.   Given 

            %∆P = 5% and    %∆Q = 10%

             Thus Ed = %∆Q / %∆P = 10% / 5%

                       Ed = 2

              Further  P = Rs 10                                         Q = 40 units

                              P1 = Rs 12                                        Q1 = ?

             As we know that

                        Ed =  - Q1 –Q / P1 – P  x P / Q

                         2    = - Q1 – 40/ 12-10  x 10 / 40

                         2   =  - Q1 – 40 /2   x    1/4

                         2   =   - Q1- 40 /8

                         2 x 8  =  -Q1 -40

                         -Q1  = -40 +16

                          Q1   = 34

             Thus new quantity demanded = 34 units.

9. What is the relation between market price and AR of a price taking firm?                                                       3

Ans.  The market price always equal to AR of a firm .This equality can be proved with the help of following diagram and schedule.

	Q
	P
	TR
	AR=price
	                                         AR=TR/Q  since TR= P x Q

         price                           = P x Q / Q  = Price

                    5                    AR =P

                           

                             Qty

	1

2

3

4
	5

5

5

5


	5

10

15

20
	5

5

5

5


	


10. Distinguish between monopoly and oligopoly competition.                                                                                  3

	Features
	Monopoly
	Oligopoly

	1.Number of firms

2. Freedom of entry and exit

3.Nature of product

4.Example

5.Nature of AR curve


	 One

Complete restrictions

Unique

Railway, water supply

Less elastic AR curve due to lack of close substitute


	Few

Not absolutely ree/Restricted

Differentiated or homogeneous

Cement , cars

Kinked shaped 

AR curve due to interdependency of firms




    Ans.

11. Which of the  following commodity  have inelastic demand . give reason in support of your answer                                                                                                          

a.  Salt,   b.    Rent   , c. School uniform,    d. medicine                                                                                          4

    Ans.  a. Salt – Inelastic demand , because it does not have any close substitute.

              b. Rent- Inelastic demand ,it is necessity means it can’t be avoided.

              c. School uniform – for students- inelastic, because it is basic necessity of students.

              d .Medicine  for patient- inelastic, because it is basic necessity of  patient.

12. A. If TPP is parallel to the x-axis, what would be the shape of APP?                                                                  4

   Ans.   Falls continuously –rectangular hyperbola  

B. What would be the rate of TPP if MPP falls but remain positive?

   Ans.   TPP will increase at diminishing rate

C. If MC is rising What you will say about TVC?

   Ans.    TVC will increase at increasing rate

D. Is TC zero at zero level of output in short run?  Give reason.

   Ans.    No, because it includes TFc and TFC does not equal to zero , so TC in shortrun cant be zero

                                                           Or

A. Give the relationship between TR  , market price and quantity sold by a firm.

    Ans.                                            TR = price x Quantity 

                    TR of a firm is the product of price of a product and quantity sold by the firm

B.  When a firm is able to sell more of o/p at same price ,what will be the relation between TR   and MR

    Ans.          MR will be constant as a result TR will also increase at constant rate.

C. If MR is negative what would happen  with price?

   Ans.          Price (=AR ) will also falls but does not equal to zero.

D. If TR is inceasing at increasing rate what will happen with AR.

   Ans.            AR will increase
13. Distinguish between gross profit and net profit.                                                                  4

14. Define MRSxy . Why does it diminishes? Use diagram and schedule.                              6

  Ans.    MRSxy

             MRSxy is the rate of loss in the consumption of Y commodity due to gain in consumption of 

             X commodity by one extra unit. 

                                                                             Or 

             It is the rate at which one commodity is being sacrificed for on one extra unit of another      

            Commodity          MRSxy=[image: image22.png]Aloss _ Ax
Rown = A7
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	∆Y
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5
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                 Acc to diag and schedule MRSXY falls because both goods are normal goods. So in order to   

             get one more unit consumer have to sacrifice some units of another commodity. But for each 

             extra unit of  Xcommodity the willingness of consumer to sacrifice  Y commodity goes on 

             decreasing ( As preference of the consumer is  monotonic) therefore  MRSxy diminishes  
15. State whether the following statements are true false. Give reason

A. When MR is constant  and not equal to Zero then TR will also be constant.

    Ans.   False. Because when MR is constant TR will increase at constant rate( As MR is the slope of TR 

              curve)  
B.As soon as MC start rising  AVC also start rising

    Ans.  False. Because initially the rate of rise in MC is less than rate of fall in AVC so, AVC can fall 

              when MC is rising at initial stage of rise in MC 

            C.TP always increase whether there is Increasing returns   or diminishing returns to a 

                factor. 

    Ans.    True. Because When MP increase or decrease (but positive) TP continuously at increasing rate 

               in increasing returns and at diminishing rate during diminishing returns .( As MP is the addition 

               to TP)
                                                             Or

With the help of following information find out  the level of max. profit by MR-MC approach

 Q          1            2              3              4                 5                    6

AR        7            7              7               7               7                     7

TC        8            15            21            26             33                    41                                         6

	 Q
	 AR
	 TR=AR x Q
	TC
	MR
	MC
	  Description


Eq’m        i. MR=MC

          ii. MC is rising



	1

2

3

4

5

6


	 7

7

7

7

7

7


	 7

14

21

28

35

42


	8

15

21

26

33

41


	7

7

7

7

7

7


	8

7

6

5

7

8


	

	                

                                                MC

            MR/MC

                             5     R                 E          MR


                              

                                      2  Qty        5
	 According to diag and table 

1. Ist condition MR=MC is satisfied at

two points i.e. point R and E

2. At point R only Ist condition is 

satisfied but  this point does not satisfied IInd order condition of eqm (i.e. MC should be rising)

3. IInd Condition of eqm is satisfied at point E

4. Thus equlilibrium is attained at point 

E at which both conditioned are satisfied i.e. 

     MR=MC

     MC should be rising

At this point of equilibrium the firm will produce 5 units of the commodity




16. Given market equilibrium  of a good what are the  affect of simultaneous increase in both dd and supply of that good on its price and quantity.                                                                 6

	If dd increase more than increase in supply
	If increase in dd is less than increase in supply

	
                        D            D1     S     S1
           P1                           E1
           Pe                E

Price


               O          Qe      Q1
                      Qty

Acc. to the diagram 

If dd increase more than increase in supply then eq’m point will shift from point E to E1 as a result

i. Eq’m price will increase from OPe to OP1
ii. Eq’m qty will also increase from OQe to OQ1 
	 

                         D     D1                    S              S1     


           Pe                E

           P0                           E0
  Price

              

                     O           Qe    Q1
                         Qty

Acc. to the diagram 

If dd increase less than increase in supply then eq’m point will shift from point E to E0 as a result

i. Eq’m price will decrease from OPe to OP0
ii. Eq’m qty will also increase from OQe to OQ1

	                                If increase in dd is equal to increase in supply



	
                      D      D1                    S          S1

           Pe                 E             E1
   Price


                  O              Qe   Q Qty


	Acc. to the diagram 

If dd increase equal to the  increase in supply then eq’m point will shift from point E to E1 as a result

i. Eq’m price will  remain same 

At OPe level ,but

ii. Eq’m qty will also increase from OQe to OQ1



                                                    Section2  Macro Economics

17. Define autonomous consumption.                                                                                                                                1 

Ans. Consumption at zero level of income is called as autonomous consumption.
18. Define investment dd function.                                                                                                                                     1

Ans. The functional relationship between Investment dd and rate of interest is called as investment  

          dd function.

19. What do you mean by CRR ?                                                                                                                                         1

Ans. It refers to that fraction of total deposits which a commercial have to keep with central bank in the form of reserve.

20. Purchase of a machinery is recorded in which account of BOP.                                                                                1

Ans. It will be recorded in current account as imports of good.

21. Define spot Exchange rate.                                                                                                                                            1

Ans. The rate at which current transactions took place , is called as spot rate of exchange.
22. Does equilibrium of National income always strike at full employment level ?                                                      3

Ans. No, not always. Or it is not necessary that eq’m of national income is always strike at full employment level.

There may be three conditions for eq’m

	                                   AS

                                             AD o.f.
AD                                Eof
AS                                                 ADf
                                E                                          

                                           ADuf
                    Euf


                         Q               Qf   Income


	   Acc. to diag Eqm may be strike  at

a. Full employment level

b. Under full employment

c. Overfull employment level

In diagram point

E – Eqm at full emp. Level

Eof - Eqm atoverfull emp. Level

Euf- Eqm under full emp. Level

And

ADf    = AD at full employment  

               level

ADof = AD at overfull  

              employment level

ADuf = AD under full 

              employment level




23.  Calculate  value of output from the following data                                                          3

                           Item                                                                                   Rs

1. Subsidies                                                                                   20

2. Intermediate consumption                                                     110

3. Net addition to stock                                                             (-)13

4. Consumption of  fixed capital                                                30

5.  Excise duty                                                                              20

6. Net value added at factor cost                                                250

	Item
	Rs

	Net value added at factor cost     

+  Consumption of  fixed capital  

+NIT (Excise duty – subsidies)

+Intermediate consumption
	             250

             30

              0

             110

	Value of output                                                                                       
	             390


24. Are the followings transactions entered on the debit side  or the credit side in BOP a/c? Give reason     3

a. Exports

Ans.     On Credit side in  current account of BOP , because results in inflow of money from rest of the     

             world.
b. Imports

Ans. .   On Capital side in  current account of BOP , because results in outflow of money from rest of  

            the world.
c. Borrowings from the rest of the world

Ans. .    On Credit side in  capital account of BOP , because results in inflow of money to rest of the  

              world.
                                                               Or
              Are the concept of demand for domestic goods and domestic demand for  goods same?  Use example.
Ans.      No both are not same

a. demand for domestic goods
It shows the demand for domestically produced goods in rest of world. Means It shows the exports of domestic economy.

b. domestic demand for  goods
It refers to the demand made by domestic economy for both domestically produced goods as well produced in other economies (Imports).
25. Distinguish between legal money and demand deposits. Give two example of each.                                  3

Ans.

	       Legal money
	  Demand deposits



	1. It is also called as fiat money

2. It is backup by law

3. Non can refuse to accept it

4. For exp.  Coins and notes
	1. It is also called as bank money

2. 2. It is based on trust between two persons.

3. Any body can refuse to accept it

4. For exp. Cheques and drafts


26.  Define Official Reserve  transactions. Explain their importance in BOP account.                                    3
     Ans.     These are reserved transactions made by authority of an economy. Such reserve transactions are required on  

                   large scale during fixed exchange rate regime.

                   These are of adjustment nature and have an objective of balancing the balance of payment account.

27.  Explain with the help of numerical example how an increase in investment in an economy effects its  of 
 income output and employment  level                                                                                                                4

    Ans.   let I= Rs 100cr , mpc= ½                                    K =1/1-.50 =1/.50 =2

              (Y = K. (I=2 X 100 200 

	Round
	(I
	(Y
	(C
	(S

	I

II

III

IV


	100

--

--

--

--

--

--
	100

50

25

12.5

--

--

--


	50

25

12.5

6.25

--

--

--


	50

25

12.5

6.25

--

--

--

	 TOTAL
	100
	200


	100


	100


              (C = MPC .  (Y=1/2 X 200 =100

              (S = (Y- (C= 200-100=100 

     AD                                               AS        AD1
     AS                                                          AD      

                                     

                                                                  AD0

   

          
                 (I

                 (I                 (Y          (Y

      0            

                                                    
                                               y0               Y            y1  Income
28.   Explain the reallocation function of budget.                                                                                                     4                                                   
                  Allocation function. 
                  The basic objective of the government budget is to allocate the resources of economy between 
                   private and public   sector properly so the objective of public welfare could be attained . 
                   It is because
                   Public  goods  (  as  defence, roads, government administration), cannot  be 

                   provided  through  the  market  mechanism,  i.e.  by  transactions between  individual  
                   consumers  and  producers  .These goods  must  be provided by the government.   
                                                                          Or

Giving reason  categorized the followings into  direct tax and indirect tax                      

a. Corporate profit tax

Ans.   It is direct tax ,because it is paid by the same on whom it is imposed.

b.  Profit tax

Ans.   It is direct tax ,because it is paid by the same on whom it is imposed.

c. Entertainment tax

Ans.   It is indirect tax ,because its burden can be shifted on other persons..
d. Gift tax

Ans.   It is indirect tax ,because its burden can be shifted on other persons..
29.  A. Distinguish between Developmental and non developmental  expenditure                                                4

Ans.                 

	Developmental expenditure           
	Non Devlopmental expenditure

	i. These are the 

expenditures which are made on developmental activities

ii. These  expenditure  

which promotes growth and development 

iii. For example-  expenditure on 

health bridge , dam, education etc.
	i. These are the 

expenditures which are made on developmental activities

ii. These  expenditure  does 

not promotes growth and development 

iii. For exp. Expenditure on 

tax collection, construction of bunker


B. Distinguish between Fiscal deficit and primary deficit

	        Fiscal deficit
	    primary deficit

	i. It is a situation in which  total 

expenditure exceeds to the total receipts (excluding borrowings)

ii. Interest payments are included in it. 

iii. It shows borrowing requirement 

of the govt including  interest payments

iv. FD = TE –TR(excluding borrowings)
	i. It is the difference between fiscal deficit and interest payment.

ii. It does not include interest payments.

iii.  It shows borrowing 

requirement of the govt excluding interest payments.

iv. PD = FD -IP




30.  Calculate  (i) NDPfc ,  (ii)  gross national disposable income                                                                                     6

Item                                                                                       Rs in cr.

1. Government final consumption expenditure             2000

2. Net factor income to abroad                                      - 50

3. Gross  domestic capital formation                              700

4. Change in  stock                                                           - 40

5. Net domestic capital formation                                   650

6. Net indirect tax                                                             200

7. Net current transfers from rest of the world              700

8. Net exports                                                                    -600

9. Profit                                                                               700

10. Private final consumption expenditure                       6000

        Ans.
	Item
	Rs in cr

	Government final consumption expenditure             

+ Private final consumption expenditure

+ Net domestic capital formation  

+ Net exports   

-  Net indirect tax  


	2000

6000

650

-600

200



	= NDPfc
	8250

	- Net factor income to abroad   

+   Net indirect tax  

+   Net current transfers from rest of the world                                                                                                                                                                    

 + Consumption of fixed capital                            
	-50

200

700

50

	     Gross national disposable income
	9250


31. Will the following included in National income. Give reason in support of your answer                                          6

i. Brokage payment on sale of share. 

          Ans.  Included. Because it is factor income

ii. School fee paid by students

         Ans.   Yes. It is the part of private final consumption expenditure
iii. Expenditure  on the construction of office building

        Ans.    Included, because it is part of gross fixed capital formation(i.e. Gross business fixed  

                    investment)
iv. Festival gift  to its employee by employer

       Ans.    Included, because it is part of wages in kind.

32. Define  Inflationary gap. How can problem of deficient AD   be combated by  using  public expenditure?                 

     Ans.    Inflationary gap

                It refers to the gap created by excess of AD over AS corresponding to full employment level. The    

               concept of inflationary gap may be analysed with the help of following diagram

	                                                       AS           ADo.f.
  

     AD/AS                                   Ef                  AD


                                                     E


                                       income              Yf 

 
	Acc. to diag.  point Ef=full employment equilibrium

                 point E = overfull employment equilbrium

Agg.dd at full employment level(ADf)   =  YfEf

Agg.dd over full employment level(AD)  =  YfA

 So  excess AD   = YfEf-YfA

                            = EfA = Inflationary  

                                          gap

Thus inflationary gap is AD > AS : corresponding to full employment level


                                                Or

a. In an economy planned  savings are greater than planned investment. How  can equality between two be achieved? Explain
           Ans.     If Savings are > investments

a. It is a situation of disequilibrium. Due to it the inventories will increase with  the producers.

b. Producer will decrease the production so output 

c. The  income will fall by reduction in output as a result

d. Further saving will also reduced

e. This process will continue until Savings are not equal to investment.

b. Explain the  meaning of investment multipler? What can be  its minimum value and why?

         Ans.   It is the ratio between change in income to the change in investment.

                     K=[image: image26.png]2|2




                      The minimum value of investment multiplier is one

                      As we know that investment multiplier is directly related with MPC

                       If MPC =0 =min

 Then investment multiplier will also minimum

                           K=[image: image28.png]
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Assumption 1


If firm A wiil rise its price, rival firm will not





Assumption 2


If firm A wiil cuts its price, rival firm will also  reduces








forward multiplier   (I↑


(I↑→(Y↑→(C↑→(S↑








Backward multiplier (I↓


(I↓→(Y↓→(C↓→(S↓
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